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SECTION-I
GENERAL KNOWLEDGE & CURRENT AFFAIRS

1. Whose name is associated with the abolition of
    ‘Sati Pratha’?

    a)  Rabindranath Tagore
    b) Raja Ram Mohan Roy
    c) Swami Vivekanand
    d) Gopal Krishna Gokhle

2. Fahien visited India during the reign of which of the 
    following rulers?

    a) Chandragupta Maurya
    b) Ashoka
    c) Harshvardhan
    d) Chandragupta II

3. Jallian Wala Bagh massacre occurred in the year?

    a) 1919
    b) 1923
    c) 1924
    d) 1931

4. Who was popularly known as the “Grand Old Man of 
    India”?

    a) W.C. banerjee
    b) Rajgopalachari
    c) Dr. Zakir Hussain
    d) Dadabhai Nauroji

5. Which of the following is the earliest Veda?

    a) Rigveda
    b) Samveda
    c) Yajurveda
    d) Atharveda

6. Which of the following is used in pencils?
 
    a) Phosphorus
    b) Silicon
    c) Graphite
    d) Charcoal

7. The hardest substance available on earth is?

    a) Gold
    b) Iron
    c) Diamond
    d) Platinum

8. Non stick cooking utensils are coated with?

    a) PVC
    b) Graphite
    c) Black Paint
    d) Teflon

9. GPS is an abbreviation for?

    a) Global Poles System
    b) Global Privacy System
    c) Global Positioning System
    d) Global Position Structure

10 ‘Scurvy’ is caused due to the deficiency of?

    a) Vitamin A
    b) Vitamin B
    c) Vitamin C
    d) Vitamin D

11. In a computer, ‘OS’ refers to which of the following?

    a)  Order of Significance
    b)  Open Software
    c)  Operating System
    d)  Online Signal

12. WWW stands for?
    a)  World Wide Web
    b)  World with Web
    c)  Web with World
    d)  Windows Web World
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13.  ‘Booting’, a terminology related to computers,
       refers to?

        a) Shutting down a computer
        b) Starting a computer
        c) Formatting a computer
        d) Repairing a computer

14.  World’s highest mountain is in?
        a) India
        b) China
        c) Pakistan
        d) Nepal

15. The world's largest Lake is?
        a) Caspian Sea
        b) Lake Superior
        c) Lake Victoria
        d) Great Bear Lake

16. The headquarters of the World Bank is in?
        a) Geneva
        b) Rome
        c) Washington
        d) New York

17. ‘Dandia' is a popular dance of which State?
        a) Gujarat
        b) Punjab
        c) Rajasthan
        d) Tamil Nadu

18.   The famous book 'Anandmath' was authored by?

        a) Sarojini Naidu
        b) Bankim Chandra Chottapadhya
        c) Sri Aurobindo
        d) Rabindrnath Tagore

19.   World Environment Day is celebrated on?

        a) May1
        b) June5
        c) July11
        d) September5

20. Presently, who is the Chief Justice of India?

        a) Justice R.C. lahoti
        b) Justice R.M. Lodha
        c) Justice Altamas Kabir
        d) Justice H. L. Dattu

21.   Which of the following is the least populous State of       
        India according to the census 2011?

        a) Tripura
        b) Meghalaya
        c) Nagaland
        d) Sikkim

22.   Who is the only cricketer to hit four consecutive       
        centuries in a World Cup?

        a) Kumar Sangakara
        b) Glen Maxwell
        c) Chris Gayle
        d) Martin Guptil

23.   ‘Glaucoma’ is an ailment of ?
        a) Ears
        b) Nose
        c) Eyes
        d) Skin

24.  The famous Dilwara Temples are situated in which of          
       the following States?
       a) Punjab
       b) Gujarat
       c) Madhya Pradesh
       d) Rajasthan

25.  Which city is known as the 'Electronic City of India'?

        a) Mumbai
        b) Gurgaon
        c) Bangalore
        d) Hyderabad

26.  The Cricket World Cup 2019 would be held in?

        a) India
        b) England
        c) West Indies
        d) South Africa

27.   The Nobel Peace Prize 2014 was awarded to which  
        personality?

        a) Kailash Satyarthi
        b) Malala Yousafzai
        c) Both (a) & (b)
        d) None of the above
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28.   Which of the following countries won the 2014 Men's 
        Hockey World Cup?

        a) Australia
        b) The Netherlands
        c ) Argentina
        e) England

29.   The Buddha International Circuit (F1 Track) is situated 
        in

        a) Chandigarh
        b) Greater Noida
        c) Pune
        d) Bangalore

30.   The Capital of the newly created State Telangana is?

        a) Hyderabad
        b) Visakhapatnam
        c) Vijayawada
        d) Warrangal
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SECTION- II
ENGLISH INCLUDING COMPREHENSION

31.   How do the monkeys react when they get irritated?

        a) They jump about the rock
        b) They swing on the wire of the cage
        c) They beat their chest
        d) They beg from the passers-by

32.   Which of the following is the chief function of the trunk 
        of the elephants?

        a) Picking up small articles from the ground
        b) Swaying from side to side
        c) Dragging heavy loads
        d) Eating food and drinking water

33.   The children were afraid of riding on the elephant as

        a) The elephant looked awkward
        b) The back of the elephant was swaying
        c) The trunk of the elephant was swinging
        d) Its legs were covered with loose folds

34.   Which of the following does not make the elephant   
        awkward in appearance?

        a) Its long trunk
        b) Its swinging trunk
        c) Its heavy movement
        d) None of these

Questions 31-35

Direction: Read the following passage carefully and answer the questions that follow:

The first thing the children wanted to do at the zoo was to ride the elephant. They were frightened as they climbed the 

ladder to take their seats on the swaying back of the huge beast. Elephants seem awkward creatures as they move along 

heavily, their legs covered with loose folds of tough skin and their trunk swinging from side to side in search of food or 

drink. An elephant has great strength in its trunk, and can drag heavy loads with ropes, but it can also use its trunk to pick 

up small articles such as coins or nuts from the ground.

After their ride on the elephant, the children went to see the lions and tigers. Crowds of people stood watching, 

protected from the cruel beasts by the strong metal bars of the cages. 

From there, they went to see the monkeys. Those merry creatures were jumping about the rocks, swinging on the wires 

of their cages, or begging for the nuts from the passers-by. If anyone annoyed them, they would scold him angrily and 

beat their chest with their hands. 

In the end, they saw some curious creatures like the giraffe with its long neck and the camel with its short beard.

35.   Which of the following is typical of the giraffe ?

         a) Hump on the back
         b) Short beard
         c) Tough skin
         d) Long neck
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Questions: 36-40

Direction: In the following questions, out of the four alternatives, choose the one which expresses 
the correct meaning of the given word.

Questions: 41-45

Direction: Given below are the sentences in which two spaces have been left blank. Choose from 
among the given choices, the pair of words which would fit the two blanks in the given order:

36.   Candid

        a) Vague
        b) Anxious
        c) Frank
        d) Experienced

37.   Prowess

        a) Understanding
        b) Keenness
        c) Eagerness
        d) Bravery

38.   Antagonistic

        a) Similar
        b) Reluctant
        c) Averse
        d) Aside

41.   When you want to digitalize a city _____ with millions,  
        you do not bet _____ the odds.

        a) Proceeding, into.
        b) Teeming, against.
        c) Undergoing, adhere.
        d) Dangling, for.

42.   The numbers ______ by the legitimate online music  
        service providers indicate that a growing number of users 
        are ______ to buy music.

        a) Morphed, ignoring.
        b) Touted, willing.
        c) Figured, fanatic.
        d) Painted, interested.

43.   The glaring success of the Indian team was the_____ of 
        the ___ efforts.

        a) Message, relations.
        b) Notice, obstacles.
        c) Result, persistent.
        d) Impression, opportunities.

39.    Infamous

         a) Populous
         b) Prosperous
         c) Notorious
         d) Spurious

40.    Parry

         a) Cut away
         b) Pierce
         c) Reject
         d) Ward off

44.    Being a cruel task master, he always ______ too______ 
         work on his servants.

         a) Does, much.
         b) Entrusts, difficult.
         c) Assigns, little.
         d) Imposes, much.

45.    If India is ______ on protecting its resources,   
         international business appears equally ________to
         safeguard its profit.

         a) Dreaded, fragile.
         b) Stubborn, weak.
         c) Bent, determined.
         d) Obsessed, prepared.
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Questions: 46-50

Direction: Point out the error, if any, in the following sentences.

Questions: 51-55

Direction: In the following questions, out of the four alternatives, choose the one which can be 
substituted for the given sentence.

46.   The hero’s death is different from the martyr.

        a) The hero’s death
        b) Is different from
        c) The martyr.
        d) No error.

47.   As I am tired so I shall sleep early tonight.

        a) As I am tired
        b) So I shall sleep
        c) Early tonight
        d) No error.

48.   The pickpocket was caught and his pockets searched.

        a) The pickpocket was caught
        b) And his
        c) Pockets searched
        d) No error.

51.   A person who looks at the bright side of things:

        a) Atheist
        b) Pessimist
        c) Hardened
        d) Optimist

52.   One who compiles a dictionary:

        a) Lexicographer
        b) Editor
        c) Compiler
        d) Sycophant

53.   A person who loves mankind:

        a) Anarchist
        b) Misogamist
        c) Cosmopolitan
        d) Philanthropist

49.    The Jury were divided in their opinion.

         a) The Jury
         b) Were divided
         c) In their opinion
         d) No error.

50.   The officer received order to enforce discipline among his  
        subordinates.

         a) The officer received
         b) Order to enforce discipline
         c) Among his subordinates
         d) No error.

54.    A person who talks too much:

         a) Fanatic
         b) Garrulous
         c) Extrovert
         d) Uxorious

55.    A speech made without preparation:

         a) Extempore
         b) Axiom
         c) Epitaph
         d) Verbatim
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Questions: 56-60

Direction: In the following questions, choose the correct preposition to complete the sentence:

56.   A lot of children have died ___ Cholera.

        a) From
        b) Of
        c) For
        d) Towards

57.   We arrived at the wedding ____ car.

        a) By
        b) From
        c) With
        d) Upon

58.   His idleness accounts ____ his poverty.

        a) To
        b) For
        c) In
        d) Into

59.   It is ____ my dignity to talk to him.

        a) Beneath
        b) Under
        c) Below
        d) Off

60.   A bad workman quarrels ___ his tools.

        a) From
        b) For
        c) Beside
        d) With
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SECTION-III
MATHEMATICS

Questions 61-85

61.   Which of the following is not a Prime Number?

        a) 31
        b) 61
        c) 71
        d) 91

62.   The sum of the first five prime numbers is?

        a) 28
        b) 26
        c) 18
        d) 11

63.   Which one of the following numbers is exactly  
        divisible by 11?

        a) 235641
        b) 245642
        c) 315624
        d) 415624

64.   What would be the next number of the series 1, 4, 9, 
        16, 25, 36, 49, ___?

        a) 54
        b) 56
        c) 64
        d) 81

65.  If one-third of one-fourth of a number is 15, then three-
       tenth of that number would be?

       a) 35
       b) 36
       c) 45
       d) 54

66.  A man buys a cycle for Rs.1400 and sells it at a loss of 
       15%. What is the selling price of the cycle?

       a) Rs. 1090
       b) Rs. 1160
       c) Rs. 1190
       d) Rs. 1202

67.   On selling 17 balls at Rs. 720, there is a loss equal to 
        the cost price of 5 balls. The cost price of a ball is?

        a) 45
        b) 50
        c) 55
        d) 60

68.   A sum of money at simple interest amounts to Rs. 815  
        in 3 years and to Rs. 854 in 4 years. The sum is?

        a) 650
        b) 690
        c) 698
        d) 700

69.   The average age of husband, wife and their child 3 
        years ago was 27 years and that of wife and the child 5 
        years ago was 20 years. The present age of the husband 
        is?

        a) 35
        b) 40
        c) 50
        d) 55

70.   The cost price of 20 articles is the same as the selling 
        price of X articles. If the profit is 25%, what is the 
        value of X?
        a) 15
        b) 25
        c) 18
        d) 16

71.   A vendor bought chocolates at 6 for a rupee. How 
        many for a rupee must he sell to gain 20%?

        a) 3
        b) 4
        c) 5
        d) 6
72.   A person crosses a 600 m long street in 5 minutes. 
        What is his speed in km per hour?
        
        a) 3.6
        b) 7.2
        c) 8.4
        d) 109
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73.   A man completes a journey in 10 hours. He travels first 
        half of the journey at the rate of 21 km/hr and second 
        half at the rate of 24 km/hr. What is the total journey in 
        km.?

        a) 220
        b) 224
        c) 230
        d) 234

74.   If a quarter kg of cheese costs 60 rupees, how many 
        rupees will 200 grams cost?

        a) 48
        b) 54
        c) 56
        d) 72

75.   The sum of ages of 5 children born at the intervals of 3 
        years each is 50 years. What is the age of the youngest 
        child?

        a) 2 years
        b) 3 years
        c) 4 years
        d) 12 years

76.   A father said to his son, "I was as old as you are at the 
        present at the time of your birth". If the father's age is 
        38 years now, what was the son's age five years back?

        a) 14 years
        b) 19 years
        c) 33 years
        d) 38 years

77.   A man is 24 years older than his son. In two years, his 
        age will be twice the age of his son. What is the present 
        age of his son?

        a) 14 years
        b) 18 years
        c) 20 years
        d) 22 years

78.   In one hour, a boat goes 11 km/hr along the stream and 
        5 km/hr against the stream. What is the speed of the 
        boat in still water?

        a) 3 km/hr
        b) 5 km/hr
        c) 8 km/hr
        d) 9 km/hr

79.    A and B together have Rs.1210. If 4/15 of A's amount
         is equal to 2/5of B's amount, how much amount does 
         B have?

         a) Rs.460
         b) Rs.484
         c) Rs.550
         d) Rs.664

80.    A sum of money is to be distributed among A, B, C 
         and D in the proportion of 5: 2: 4: 3. If C gets Rs. 
        1000 more than D, what is B's share?

         a) Rs.500
         b) Rs.1500
         c) Rs.2000
         d) Rs.2200

81.   While working alone, Ajay and Vijay can do a piece of   
        work in 16 days and 12 days respectively. Vijay started 
        the work alone and after 5 days Ajay joined him till the 
        completion of the work. How long did the work last?

         a) 8 days
         b) 9 days
         c) 10 days
         d) 11 days

82.    Number of people in a group increases by 20% at the 
         beginning of every month. The group has 432 people 
         at the end of the fourth month. How many people were 
         there in the group initially?

         a) 200
         b) 250
         c) 300
         d) 350

83.   10 sheep and 5 goats were brought for Rs. 6000. If the 
         average price of a sheep is Rs. 450, what is the 
         average price of a goat?

         a) Rs.380
         b) Rs.410
         c) Rs.340
         d) Rs.300

84.    In a town there are 94500 people. 2/9 of them are 
         foreigners, 6400 are immigrants and the rest are 
         natives. How many are natives?

         a) 67100
         b) 27400
         c) 77600
         d) 8810010
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85.   The ratio of two numbers is 4:5. If each number is 
        increased by 20, the ratio becomes 6:7. What is the 
        sum of such numbers?

        a) 70
        b) 75
        c) 80
        d) 90
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SECTION IV
LOGICAL REASONING

Questions 86-90

Direction: Find out the missing number/ 
alphabet/ series.

86.   10512, 5256, ____, 1314, 657

        a) 2626
        b) 1054
        c) 2628
        d) 5000

87.   A, B, D, G, K, P, ____

        a) Z
        b) Y
        c) V
        d) X

88.   9, 8, 10, 16, 11, ___, 12, 64

        a) 28
        b) 36
        c) 25
        d) 32

89.   BE, GJ, LO, QT, ____

        a) UX
        b) VY
        c) SV
        d) RU

90.   3, 4, 7, 11, 18, 29, ___

        a) 31
        b) 39
        c) 43
        d) 47

Questions: 91-95

Direction: The relation between the first two 
words is given, from the options find a word 
which bears a similar relation with the third 
word.

91.    Day: Week. Second: ___?

         a) Hour
         b) Minute
         c) Month
         d) Time

92.    Dull: Lazy. Honest: ___?

         a) Novel
         b) Brave
         c) Stupid
         d) Dishonest

93.    Claustrophobia: Closed spaces. Acrophobia: ___?

         a) River
         b) Height
         c) Bats
         d) Hair

94.    Satire: Mock. Eulogy: ___?

         a) Command
         b) Commend
         c) Comment
         d) Chastise

95.    Lion: Den. Rabbit: ___?

         a) Kennel
         b) Barn
         c) Burrow
         d) Street

96.    In certain code, ‘CIRCLE’ is written as ‘D3SDM2’. How    
         would the word ‘BOXER’ be written in that code?

         a) C4Y2S
         b) S2Y4C
         c) C4Z2S
         d) CPY2S12
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97.   If ‘water’ is called ‘food’, ‘food’ is called ‘tree’, ‘tree’ is 
        called ‘sky’, ‘sky’ is called ‘wall’, on which of the 
        following does a ‘fruit’ grow?

        a) Water
        b) Food
        c) Tree
        d) Sky

98.   Pointing towards a person in a photograph, Kavita said, 
        “He is the only son of the father of my sister’s brother”. 
        How is that person related to Kavita?

        a) Brother
        b) Father
        c) Nephew
        d) Husband

99.   Veni is a year older than Smith. Smith is two years older 
        than Salim. Raju is a year older than Salim. Who is the 
        youngest of all?

        a) Raju
        b) Salim
        c) Veni
        d) Smith

100. If ‘P’ denotes ‘multiplied by’, ‘T’ denotes ‘subtracted 
        from’, ‘M’ denotes ‘added to’ and ‘B’ denotes ‘divided 
        by’ then what should be the correct response for 12 P 6 M 
        15 T 16 B 4 ?

        a) 70
        b) 75
        c) 83
        d) 110

101. Three of the following four are alike in a certain way and 
        hence form a group. Which is the one which does not 
        belong to that group?

        a) Small
        b) Big
        c) Trivial
        d) Tiny

102. In a row of boys facing south, Ashok is seventh from the  
        left and Amit is eighth from the right end. In the same row 
        Anand is seventh to the right of Ashok and ninth to the 
        left of Amit. How many boys are there in the row?

        a) 30
        b) 31
        c) 32
        d) 33

103.  Pramesh is heavier than Jairam but lighter than Gulab.      
         Anand is heavier than Gulab. Mohan is lighter than  
         Jairam. Who among the following is heavier than two 
         and lighter than two?

         a) Jairam
         b) Gulab
         c) Anand
         d) Pramesh

104.  Among five friends A, B, C, D and E, all of them are of   
         different heights. E is taller than C only. A is not the 
         tallest. D is between B and A. Who among them is the 
         second shortest?

         a) E
         b) D
         c) B
         d) A

105.  Which of the following words will appear first in the 
         dictionary?

         a) Apathy
         b) Apartheid
         c) Apartment
         d) Apparent

Questions: 106-110

Direction: Answer the questions based on the 
following information.

Six persons, namely P, Q, R, S, T and W work in an 
organization. Each of them likes different colours, viz. Black, 
White, Blue, Green, Red and Yellow and their salaries are also 
different. The person who earns maximum does not like Blue 
or White colour. The person who earns the least does not like 
Black or Red colour. R likes Yellow colour and his salary is the
second maximum. P likes White colour and earns more than T 
but less than W. Q likes Black colour who earns less than P but 
more than T. S likes Blue colour and T likes Red colour.               

106.  How many of them earn more than Q?

         a) On
         b) Two
         c) Three
         d) Four

107.  Who among them earns the least?

         a) Q
         b) P
         c) R
         d) S13
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108.  If they are arranged in descending order according to \
         their salaries, who will occupy the third position?

        a) P
        b) R
        c) T
        d) W

109. W likes which colour?

        a) White
        b) Green
        c) Blue
        d) Red

110. S likes which colour?

        a) White
        b) Green
        c) Blue
        d) None of the above
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SECTION-V
LEGAL APTITUDE AND LEGAL AWARENESS

111. Which part of our Constitution is called ‘Magna Carta’ of 
        India?

        a) Preamble
        b) Fundamental Rights
        c) Directive Principles
        d) Emergency provisions

112. Indian Constitution has borrowed the Fundamental Rights         
        from which of the following?

        a) Bill of Rights
        b) Record of Rights
        c) Act of Rights
        d) None of the above

113. Who administers oath to the President of India?

        a) Prime Minister
        b) Chief Justice of India
        c) Vice President
        d) Central Law Minister

114. What is meant by “Rule of Law”?

        a) Martial Law
        b) Police Law
        c) Subordination of Law
        d) Supremacy of Law

115. The display of articles in a showroom indicating their 
        prices amounts to?

        a) Offer
        b) Counter offer
        c) Invitation to offer
        d) Advertisement

116. The reason or ground of a judicial decision is known as?

        a) Ratio sole
        b) Ratio decidendi
        c) Ratio dicta
        d) Obiter dicta

117.  ‘A’ finds a watch on the floor of a State Transport bus. He          
         picked it up and put it in his pocket. Next day he sold it.          
         ‘A’ is guilty of?

         a) Theft
         b) Extortion
         c) Criminal misappropriation
         d) Criminal breach of trust

118. What is the meaning of the phrase “audi alteram partem”?

         a) No one shall be condemned unheard
         b) No one shall be judge in his cause
         c) Every party has a right
         d) Every person has an alternative right

119. Who introduced Public Interest Litigation in India?

         a) Justice Krishna Iyer
         b) Justice Ahmadi
         c) Justice Justice Subbarao
         d) Justice Bhagwati

120.  An agreement enforceable by law is called?

         a) Voidable agreement
         b) Valid agreement
         c) Legal contract
         d) Contract

121.  What does the expression “caveat emptor” mean?

         a) Seller beware
         b) Buyer beware
         c) Good faith
         d) Malice

122.  An act in excess of the authority conferred by law is?

         a) Ultra vires
         b) Intra vires
         c) Illegal
         d) Extra legal

123.  When the master is held liable for the wrongful act of his 
         servant, the liability is?

         a) Absolute
         b) Strict
         c) Transferred
         d) Vicarious15
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124. Can a person who is usually of unsound but occasionally 
        of sound mind, make a contract?

        a) Yes, he can always make a contract
        b) Yes, but only when he is of sound mind
        c) No, he cannot make a contract
        d) None of these

125. Fiduciary relationship means a relationship based on?

        a) Money
        b) Trust
        c) Blood
        d) Marriage

126. The rule of Evidence law that a person cannot deny the 
        statement which he had previously made is called?

        a) Wavier
        b) Denial
        c) Estoppel
        d) None of the above

127. When a person aids the commission of an offence, he is 
        called?

        a) Abettor
        b) Accessory
        c) Accomplice
        d) Co accused

128. A contract entered into by a minor is?

        a) Valid
        b) Voidable
        c) Partly valid
        d) Void ab initio

129. Damages in the case of tort are?

        a) Liquidated
        b) Unliquidated
        c) Unlimited
        d) All of these

130. ‘Act of God’ is known by the name of?

        a) Damnum fatale
        b) Habeas Corpus
        c) Vis major
        d) Natural act

131.  Which of the following Directive Principles has assumed  
         the status of Fundamental Right?

         a) Equal pay for equal work
         b) Uniform civil code
         c) Protection of the health of workers
         d) Maternity benefits

132.  Who presides over the joint session of the Parliament?

         a) The President
         b) The Speaker
         c) The Vice President
         d) Chief Justice of India

133.  ‘Actus non facit reum nisi mens sit rea’ means?

         a) Act alone does not make a man guilty unless his  
             intentions were so
         b) Act alone can hold a man liable for his criminal 
             actions
         c) If an act is done with a criminal mind, a person is 
             liable
         d) None of the above

134.  ‘Alibi’ means

         a) Being unconcerned
         b) Being absent minded
         c) Being active
         d) Being elsewhere

135. Right ‘in personam’ means

         a) Right against a particular person
         b) Right against ones neighbour
         c) Right against a Company
         d) Right against the whole world

136.  In law, a man is presumed to be alive if he has been heard 
         of during?

         a) 7 years
         b) 20 years
         c) 30 years
         d) 12 years

137.  Under criminal law, a child under the age of 7 years is 
         called?

         a) Doli capax
         b) Doli incapax
         c) Minor
         d) Bankrupt
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138. Killing of a human being is called?

        a) Culpable homicide
        b) Homicide
        c) Murder
        d) Genocide

139. Which of the following sentences is correct?

        a) Every person has a right to defend his body and 
             property
        b) Every person has a right to defend another’s
             body and property
        c) Both a & b
        d) Neither a nor b

140. Which of the following is a source of law?

        a) Custom
        b) Judicial precedence
        c) Legislation
        d) All of the above

Questions: 141-145

Direction: In the following questions, choose the
appropriate meaning.

141.  Abet

        a) Inspire
        b) Persuade
        c) Encourage
        d) Instigate

142. Ab initio

        a) Mid way
        b) In the end
        c) From the beginning
        d) Initial stage

143. Amicus curiae

        a) Friend of court
        b) Curator
        c) Civil suit
        d) Irregular suit

144. Bona fide

        a) Ill will
        b) Good faith
        c) Consideration
        d) Malice

145.  Suo Motu

         a) On application of a person
         b) On application of police
         c) On its own
         d) None of the above

146.  The Constitution of India was drafted by?

         a) Constituent Assembly
         b) British Crown
         c) B. R. Ambedkar
         d) Constitutional Committee

147.  The freedom of press is provided under which of the 
         following?

         a) Preamble
         b) Fundamental Rights
         c) Press Act
         d) None of the above

148. A person held guilty of an offence by a court of law and 
        awarded sentence is called?

         a) Accused
         b) Charged
         c) Convict
         d) Discharged

149. The Committee which was constituted to recommend               
        amendments to the Criminal Law so as to provide for 
        enhanced punishment for persons accused of committing 
        sexual violence against women was headed by

         a) Justice Mudgal
         b) Justice M. Katju
         c) Justice Balakrishnan
         d) Justice J.S. Verma

150.  Where was the 30th All India Bar Council of India Moot 
         Court Competition organized?

         a) Lloyd Law College
         b) NLSIU Bangalore
         c) NLU Delhi
         d) NLU Jodhpur
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